Addition

[ Addition Symbol ]

6+ 4 =10
"“("addend ) @

Each one of the numbers to be added is called
an addend and the result of addition is called
their sum.
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Word Problems on Subtraction

Example 1: The sum of two numbers is 3148654. If one of the numbers is 1952789, find the
other number.

3148654

Solution:  The sum of two numbers

1952789
3148654 - 1952789.

One number

I

The other number

@ @ @ @ @ @ @ <— After borrowmg
/3’ % w & g Yy 4«

-1 9 5 2 1 8.9
i 1 9 5 8 6 5

Hence, the other number is 1 195863.




Subtraction

G -4 = 7
! I

minuend [ difference
subtrahend

The large number from which we subtract the
other number is called the minuend and the
number which is subtracted is called the
subtrahend.
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Example 3: Thedifference between two numbers is 8974568. If the smaller number is 6468457, :
find the greater number.

Solution: leference between the two numbers = 8974568.
Smaller number = 6468457. | |
. Greater number = 8974568 + 6468457.

“Hence, the greater nUmBer is 15443025.



Multiplication

/ x 3 =21

(muttiphicand | [ multiptier | | product |

The number to be multiplied is called
multiplicand and the number by which we
multiply is called multipier.
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fmperties.of Multiplication
order Property of Multlpllcatlon

Thué, 15x(16x17) (15><16)x17
125X (240x 265) = (125 X 240) X 265 efc.

Il Distributive Property of Multiplication over Addition-
. Wehave: 23 x (100 +25) = (23 x 100) + (23 x 25);
I 130 % (145 + 245) = (130 x 145) + (130 x 245) etc.

Thus 536 x 1 =536, 10641 x 1 =10641 etc.

V Multrplrcatrve Property of 0

Multlpllcatlon by 10,-100, 1000
Multrplrcatron of a Number by 10/

W»Twmultlp'Y 3’81Ve"f””mberéby

Al O.unserl:§onefgzeroromthe*“nghttoffthe5 given:number:.

Thus 27 x 10 = 270, 147X10—1470 2485><10 24850 etC '

Multlphcatron of a Number by 100




| - (3) 589 x 20
Solution: We have: ,
(@) 589x20 (b) 1356%90
= 589x2x10 | =135_6x9x10
= (589x2) x 10 = (1356x9)x 10

1178 x 10 = 11780,
Example 2: Find the products,

12204 x 10 = 122040.

(3) 294 x 300 (b) 4567 x 500
Solution:  We have: _ _
(a) 294 x 300 (b) 4567 x 500
= 294x3x100 = 456Tx5% 100

= (294 x3) x 100
= 882 x 100 = 88200,

- (4567x5)x 100 |
22835 X100 = 2283500,

Example 3: Find the products.

(a) 378 x 4000 : ~(b) 2503 x 7000 _ Lo
‘Solution: ~ Wehave: | . | 3
= (378 x 4) x 1000 =

(2503 x 7) x 100g

1512 x 1000 = 1512000. = 17521);1000

. - N s =17521000.
Example 4: Using suitable grouping, find the following Products, |
w (a) 4% 237 x25 (b) 8x 1047 155 -
‘Solution: - We have: ‘ _ ; L
(a) 4x237x25 e (D), 81047 x 125

= (4x25) %237
= 100 237 = 23700.

i



B Exerclse 10
1. Flll in the blanks.

@).1485%(___ - )=2346x1485 . (b) 2947x4508=4508x( )
(c:_):... 22 x(__ =212 L (d) #s8x(C_ - )=0
() '35 X(100 +37) = (35 x 100) + (35 x (__:)) |
(f) 146 x (1000 + 48) = (146x-)+(146x-)
(g) 375 x (147 x 903) = (375 x 147) x
- (h). (C_j) X (1030 975) = (2460 x 1030) x 975
2, F|II in the blanks. L . :
(@) 27118x10 = (= /i ) (b) 16875x10 = (T - (‘c).3875x1_00, = C_:_)
(d) 29272 x 100 = Q M_j (e) 6087 x1000=( ) () 47385%x1000= ")

| Find the followmg products.

¢
~i \

3. 654050 1 11 4. 9784 % 60 ' . 5.15235x70
6. 7892x300 ' 7. 8986 x 700 & 8. 26305x800 -t
9. 2981 %4000 '~ v 77 10. 7897x 6000 T )" 11, 99999%2000 . ' °

By using suitable grouping, find the following products. |

12, 2x467x5 - 13. 51986 x 20 14 4x829%25

15. 4% 248 x125 - 16. 8vx3472"x1'25 ‘- 17. 2x 5726 x 500

- Multiplication of Larger Numbers

We have already learnt the multiplication of a number by a 2- dlglt or 3-digit number In the same way, we
multiply with larger numbers.

Ty
1 \

Example 1: Multiply 5347 by 486.
Solution;  We have: 486 = 400 + 80 + 6.
. 5347x486 = S347 X (400 + 80 +6) .
| _ 5347 x 400 + 5347 x 80 + 5347 X 6
| = 2138800 + 427760 + 32082 = 2598642, Al




Shorter form:

-O:-;EO:«?

&
L

S 2 S 9 8 6 4 2 <—(5347x486)

Example 22 Multiply 9896 by 2347.
Solution:

<—(9896 % 7)
<—(9896 x 40)
<—(9896 x 300)
<—(9896 x 2000)
<—(9896 x 2346)

L,
- " Exercise. 11"
. Find the following produ&s,

1. FERRASTIA

6118451

’ ‘Multiply:
3. e
...16. 10023 by 1034

.




word Problems on Multiplication

1+ The
pample : cost of a steel almirah is T 5975. What is the cost of 864 such almirahs? (
Solution: Cost of 1 almirsh = T 5075, |

Cost of 864 a!muahs =X (59?5 X 864

L S o s

. v
LR gls ‘
“4.78:0 0
> 1.6 2 4

Hence, the cost of 864 almirahs = T 5162400.

Example 2: 4912 screws can be packed in one carton. How many screws can be packed in
1475 such cartons?

Solution: Number of screws in 1 carton = 4912,
Number of screws in 1475 cartons = 4912 x 1475.

e B .
W i R

et AR

W ;
Lo s N x';"

7 2 4
Hence, the number of screws to be packed in 1475 cartons is 7245200.

Exerclse 1 2

1. The cost of a scooter is T 36453. Find the cost of 270 scooters.

2. The cost of a bicycle is X 2895. ‘Find the cost of 1486 bicycles.

3. A truck can carry 6785 kg of goods. How much can 759 trucks carry?
4. There are 1483 bags of wheat in 2 godown. If each bag weighs 108 kg, find the total weight of these

bags. .
5. A cloth mill produces 3746 metres of cloth in a day. How much cloth will it produce in 286 days?

6. A box contains 2748 pencils. How many pencils are there in 1674 such boxes?
7. Abundle of rope measures 548 metres. How much r0pe will be there in 2367 such bundles?
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